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Cisco 642-446: Practice Exam
QUESTION NO: 1 DRAG DROP

Drag the definition of the resource on the left to the media resource type on the right Nol all media
resources are used.

. ,reeced when an incoming or outgoing | Transcoding
TDM call is created by a gateway
converts streams from one codoce to another — =
Annunciator
streams spoken messages or various call |

progress tones from the systme to a user

Voice Termination

| supports single mode conferences using — s
the G7.1 cocee [ |
Hardware Conferencing
Software Conferencing

w3354 5UrEs . cOm

Drag and drop question. Drag the items to the proper locations.
Drag the definition of the resource on the left to the media resource type on the right Nol all media

resources are used.

Answer:

- reeced when an incoming or outgoing | Tran ing
TDM call is created by a gateway

converts streams from one codee to another

Annunciator

streams spoken messages or various call

progress tones from the systme to a user

Voice Termination

| supports single mode conferences using
the (7.1 cocee

Hardware Conferencing

Software Conferencing

w3554 5UrEs . cOm
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QUESTION NO: 2

Which three steps need to be performed on a third party SIP phone device when adding it to Cisco
Unified Communications Manager 6.0? (Choose three.)

A. Select XML as the method to send the third party SIPphone its configuration file.

B. Add the MAC address of the Cisco Unified Communications Manager server to the SIP phone
configuration.

C. Set the directory numbers to match the directory numbers configured in Cisco Unified
Communications Manager.

D. Set the digest user ID in the SIP device to match the digest user ID in Cisco Unified
Communications Manager.

E. Set the TLS user ID and password in the SIP phone to match the TLS user ID and password in
Cisco Unified Communications Manager.

F. Set the proxy address in the SIP phone to match the IP address or fully qualified domain name
of Cisco Unified Communications Manager.

Answer: C,D,F

QUESTION NO: 3

Which two gateway configuration statements are required in order to enable Cisco Unified
Communications Manager to control a T1 PRI in an MGCP gateway?
(Choose two.)

. mgcp
. ccm-manager config

. pri-group configuration on the controller

. mgcp call-agent pointing to tftp server

. isdn 13-backhaulccm-manager on the serial interface
. ccm-manager config server {TFTP ip_address}

Mmoo w >

Answer: B,F

QUESTION NO: 4 DRAG DROP

Click and drag the XML application service information field name on the left to its Answer:
description on the right
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T 7 wihere the odOr rices applicatio
Senics Name The serves when b IH.HT}';;‘; sanices apphcation
- L

Tha content that the sanace providas
ASCH Serace Name

The sarvice a3 it will e displayed if the phone
cannot display Linicode

Service Description
The sarice as it will be dsplayed on the menu of
available senvices in the Cisco Unified IR Fhone
Liser Ophions appkcation
Serace URL whnan D554 SUMES COM

Drag and drop question. Drag the items to the proper locations.
Click and drag the XML application service information field name on the left to its description on
the right

Answer:

Serce Mame ‘ Semacae URL

Service Description
ASCH Sanica Mams

ASCH Serice Mame
Service Description
‘ Samce Nama
Seraca URL WA 13554 SUMES . COm

QUESTION NO: 5

If a service is currently deactivated, how can the service be reactivated from the Cisco Unified
Communications Manager Serviceability Control Center page?

A. by clicking on the radio button to the left of the service on theControl Center page

B. by selecting Cisco Unified CM Serviceability > Service Activation and then clicking on the radio
button to the left of the service to activate it

C. by selecting Tools > Service Activation, selecting the correct server, and clicking on the radio
button to the left of the service to activate it

D. by selecting Cisco Unified CM Serviceability > Tools, clicking on the radio button to the left of
the service that needs to be activated, and then returning to the Control Center to activate the
service

Answer: C
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QUESTION NO: 6
Which two of these media resources are available only in hardware? (Choose two.)

A. transcoding

B. audio conferencing
C. MTP

D. annunciator

E. MOH

F. voice termination

Answer: A,F

QUESTION NO: 7 DRAG DROP

Click and drag the MoH server parameter on the left to its description on the right. Not all
parameters apply.

Run Flag in conunction with a sound card, allows You o wse 3
liver racka broadeast far Mo

enables the number of denices that can be a source
MeoH Enatited of mulicast music

determings the number of devces towhich a sener
can provide a unicast audio stream

Enable Base Mulbcast
witan el i MNO°, Mol 1S not provded,
when 28t to YES' Mo s enabled
aamum Mullcast Connections
Froed Audeo Source Device
mmnm_passalsures .cam
Maamum Half Duplex Streams

Drag and drop question. Drag the items to the proper locations.

Answer:
Run Flag Froed Audd Source Device
Iamum Mulicast Connecuons
IeoH Enabied
Meaamum Half Duplex Streams
Enabla Base Mullcast
Run Flag
haxmum Multcast Connections
Froed Auded Source Device
www.pass4sures .Lam
Maamum Half Duplex Streams
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Explanation:
Run Flag Fied Audio Source Device
hasimum Multicses Connactions
KioH Enablad
Measrmum Hal Duplex Streams
Enable Basa Mulicast
Run Flag

Maxdmmum Multicast Connactions

Fiaad Audc Sourca Device

WA D55 SUNES . COM
It i Half Duplex Stress

QUESTION NO: 8

Which three steps are necessary in order to configure DHCP for phone support using the GUI in
Cisco Unified Communications Manager 6.0? (Choose three.)

A. add the DHCP server IP address to the device pool

B. activate DHCP Monitor Service

C. add and configure the DHCP server

D. start the application on an external server

E. configure the DHCP subnet

F. download the DHCP server application from the plug-in page

Answer: B,C,E

QUESTION NO: 9
Which two of these are characteristics of multicast music on hold? (Choose two.)

A. point-to-multipoint, two-way audio stream

B. separate audio stream for each connection

C. multiple audio streams that require multiple multicast IP addresses

D. support for allcodecs that are also supported by Cisco Unified Communications Manager
servers

E. conservation of system resources and bandwidth

F. the requirement that there always be a dedicated MOH server

Answer: C,E
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QUESTION NO: 10

Which three determinations are possible when using the Presence feature in a Cisco Unified
Communications network? (Choose three.)

A. Determine if an IP phone has been unplugged if the phone is in the same Cisco Unified
Communications cluster as the watcher.

B. Determine if an IP phone is on hook or off hook if the phone is outside the Cisco Unified
Communications cluster of the watcher.

C. Determine if an IP phone is on hook or off hook if the phone is in the same Cisco Unified
Communications cluster as the watcher.

D. Determine if a set of IP phones is on hook or off hook if the phones are in the same Cisco
Unified Communications cluster as the watcher.

E. Determine if an IP phone has been moved or the user has been changed if the phone is in the
same Cisco Unified Communications cluster as the watcher.

F. Determine if an IP phone has been off hook beyond a specified period of time if the phone is in
the same Cisco Unified Communications cluster as the watcher.

Answer: B,C,D

QUESTION NO: 11 DRAG DROP

Click and drag the function of the left to the type of barge that it indicates.

cannol add sddtional callers Barge

&l cal participants have the sams features availabis

does not change the original cal infemiation display }

paras on tha call heas atona and braf interrupdion in the

call cBarge

othar paras an the call can hear 8 beap 100 announcing
e presencs of this new pamcipan

allows third parties to join an in-process cal, thensby
comesrting the call o a standard conferance call W.passdsures .Larm

Drag and drop question. Drag the items to the proper locations.
Click and drag the function of the left to the type of barge that it indicates.

Answer:
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cannat add additisnal callers

8l cal parbicipants hava the same features availabes

doses not change the original caf infommation display

parties on the call hear atons and brief intenuption in the
call

other pardes on the call can hear 8 beep toms announcing
the presenca of the new parmcipant

allows third parties to join an in-process call, thersty
converting Bhe call o8 standard copference call

Explanation:

cannl add addmonal callers

&l cal participants have the same features avaslable

does not change he original call informanion dispiay

wtias on e call hear atone and bnel imemupbon in the
cal

her pearties on e call can hear & beep tone annauncing
tha presence of the new parbopant

lkowrs third pariies o 0en an inprocess cal, herely
comvering the call 1o 8 standard confessnte call

Barge

cBarge

WA D AS554SUMES . COM

cannot a0d additional caliars

does ok change the ongnal call information dispiay

cal

ames on Be cal hea atons and bnef ingemupbion m e

cBarge

& cal parmoipants have the same features avaiabie

| aiher pares on ta call can hear a beap tons amountin
the presence of the new paricipant

Drag and drop question. Drag the items to the proper locations.

QUESTION NO: 12

The Ajax Corporation is designing an IP telephony network using Cisco MCS 7845 Series servers,
each one capable of supporting 7500 devices. The design must meet these requirements:

(1) be cost-effective
(2) support up to 7500 phones

(3) provide a minimal level of redundancy

Which configuration will meet Ajax Corporation's needs?
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A. two Cisco Unified Communications Manager servers:
1 publisher and TFTP server combined

1 primary subscriber

B. three Cisco Unified Communications Manager servers:
1 publisher and TFTP server combined

1 primary subscriber

1 backup subscriber

C. four Cisco Unified Communications Manager servers:
1 publisher

1 TFTP server

1 primary subscriber

1 backup subscriber

D. five Cisco Unified Communications Manager servers:
1 publisher

1 TFTP server

1 primary subscriber

2 backup subscribers

Answer: B

QUESTION NO: 13 DRAG DROP

Click and drag the hyperlink label on the left to the information it supplies on the right when a user
browses to a Cisco Unified IP Phone 7970G. Not all labels will be used.

Cuspdarys information about network trafic to and

~
Network Configuration from the PC port on the phons

Cuspdanss infonmaton abaut netwark: trafc 1o and

Access Trean the redwork poit on the phona

Dasplays a log of alams, which indicate emors of
other conditions

Mabvork

Status Messages

whnan D554 SUMES COM
Debug Display

Drag and drop question. Drag the items to the proper locations.
Click and drag the hyperlink label on the left to the information it supplies on the right when a user
browses to a Cisco Unified IP Phone 7970G. Not all labels will be used.

Answer:
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Matwork Configuration ACcess
Mebeirk

ACcess
Debug Display

Mabwdrk

Status Messages
W.passdsures Lam
Diebug Display

Explanation:

Petweork Configuration ‘ Agcess
Mebwiogk

ACCEss

‘ Debug Display
Mebvicrk
Satus Messages
WA A5 S UMES .COM
Dt Display

Drag and drop question. Drag the items to the proper locations.

QUESTION NO: 14
What is one difference between Cisco inline power and 802.3af POE?

A. Cisco inline power should only be activated for those ports that requirePoE to avoid
oversubscription.

B. You must determine the total number of IP phones the switch can support with 802.3af to avoid
oversubscription.

C. You must specify which set of pins the powered device is going to accept power on for 802.3af.
D. Cisco inline power provides a variable amount of power by using CDP.

Answer: B

QUESTION NO: 15
Which IP phone hardening technique will prevent call signaling and media stream tampering?

A. disable GARP

10
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